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AH(mm) P,(kN) € A(mMm?) c,(KN/m?)
0 0 0.0000 0.00196 0.0
0.88 0.18 0.0088 0.00198 90.9
1.7 0.34 0.0170 0.00200 170.0
2.53 0.5 0.0253 0.00201 248.8
3.95 0.66 0.0395 0.00204 323.5
5.7 0.76 0.0570 0.00208 365.4
8.63 0.83 0.0863 0.00215 386.0
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0.27 27.5
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AH=0.71mm Jg&lall Jayh dalall abluall Juals
0.71
g =——=0.0071
100
*(0.05)*
4 =709 6650196
155%107 *(1—-0.0071 |
q=0, -0, = ( ) 784 kN / m”

0.00196
oc.=q+0,=784+100=1784kN/m”’



AH(mm) £1 Pz(N) 1;?2 LR (kPa)
0.00- 1 0.0000 0 0.001963 0 100
0.13 000131275 | 001066 | 14 114
0.27° | 0.0027 8 | 0.001968 | 29.5 129.5
0.71 0.0071 155 0.001977 78.4 178.4
1.33 0.0133 267 0.001989 134.2 234.2
229 | 00229 1301 | 005000 | 1946 | 2046
4.18 0.0418 466 0.002049 227.5 327.5
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(0, —03), =230kN/m” = (0]), =230+100 = 330 kN /m?
(0, —03), =320kN/m* = (o} ), = 320+ 200 = 520kN / m”

55(KN/M2) | 6,-05(kN/M2) | o4(kN/m?)

100 230.0 330.0
200 320.0 520.0
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A, = n%_n%_m 63 cm*

V, :AO*H =19.63*10 =196.3cm’
A= A)

1- 51

e =V _ 2 51974
vV,  196.3

g =1 _185_ 4186
H, 100

A :19.63*1_0'1274 —21.04 cm?

1-0.186

=0l -o}=— =281 _3e7 4kN/m?
A 21.04*10




o/ =+ 0, =387.4+150 =537.4 KN/ m?

! 4
« o,+0, b37.4+150
O e —343.7KN/m?
2
* O- _O-
q =2=% _193.7kN /m’
2
. , q*= p*=
A G’ 1-C'3 G4 s 3 ; )
& &y (cm?) KN/m?) | (kN/m?) ﬁ@;%z (G(l<1|:|rfm32))/2
0.186 |0.1274| 21.04 387.4 | 537.4 193.7 343.7
0.25 |0.1885| 21.24 619.1 | 919.1 309.6 609.6
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4
2 4 il Ja (g
q=o0, 03:PZ A= A glzﬁ
A 1-¢, H,
g = 12 612
100
A= 1963 _ 22.31cm?
1-0.12
* -3
g=0,—0, = >80710 — =260 kN/m? = &, = 260+ 200 = 460 kN / m?
22.31*10



o' =oc—-AU
o, =460—-95 =365 kN / m?*
o, =200-95=105 kN / m*

4 / / /
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0 = 460+ 200 _ 330 kN /m?

q = 460—-200 _130 KN/ m?

P =p —Au=330-95=235kN/m?
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’% q* P* o3 o’y G A 1.
P 2 2 2 2 2 q gy | Sl
KN/m? KN/m< | KN/m< | kN/m= | KN/m= | kN/m KN/m? (cm?)
145 85 185 60 230 270 170 21.82 1
235 130 330 105 365 460 260 22.31 2
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sing'=Tan o' =0.474 = ¢' = 28.3° sin ¢

Cr o a 17

— = =19.3kN/m?
cos ¢’ cos 28.3

C:

a 24.8

COS ¢ N cos 18.8

=Tan ¢ =0.322 = ¢ =18.8°

=26.2 kN /m?
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c0s(2*59.15) =104.7 KN/ m?
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AH(mm) Pz(N) AV(mm?) V, = A, *H =19.64*10=196.4 cm®
*(1—
3.2 604.3 2700 alisy) | A= A 1(_5 %)
15.5 480 3700 g |, AR o AV
H, Y
. 2.1
£, =2 20,032 £, = =00138
=100 " 196.
15.5
. =—"=0.155 £, . = 3700188
’ 0 ~196.3



 196.3*(1-0.0138)

=20 cm?
= (1-0.032)
AL - 196.3*(1-0.0188) ., o 2
' (1-0.155)
R
0=0,-03= A
.. 604.3*10°° ,
q,=(0,—03), = 50%10-2 =302.1kN /m
= o], =302.1+150 = 452.1 kN / m’
480*10°°
— (o' —-0c') = =210.5kN / m?
qcs (61 G3)cs 22.8*10_4

= o/, =210.5+150 = 360.5 kN / m”

G3 (6°1-65) D (6°1-6°3) cs G,l,p G 1cs

150 302.1 210.5 452.1 360.5
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= 255.25kN / m?



160

(301.05, 151.5)

140 - - R— R e i
120 | | | | : |
100
q* 80
60
40
. 20
Tana’zq*zsingb’ 0 | | |
p’ 0 50 100 150 200 250 300 350
p*, p™*
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